QUESTION BOOKLET

This question paper contains 170 questio ;
All questions are compulsory. / H% T al}gé‘é%q Tlﬂ #1705 |

One question carries half mark only. / T w3 fou Srarer ammern 37 £ |

Maximum Marks : 85 3TfereHan 37 : 85
Time : 2 Hours | Uy : 2 gue

¢ Characteristics of Unix are
- EAg at a time more than one work  (B) ata time more than one people can work
C) more safe {Dg None of these | '

i (Unix) % @& g
(A) TG0 W T § At wd
(B) Teh G T T ¥ 3o SATRT hr ot Tl & |
(C) aqfﬁmg"aa
(D) 37 & SIS &l ,
_2< What is the use of backup in a database ?

A) To check the working of the system Bg For safetK -
C). To provide record of transaction (D) To find the lost data

. (backup) 1 TFT FAT 2 7 | .
(A) g@miﬁ et %%;
(B) &1 ' . . [
(C) %&w % fvrerg fereor =1 ey w @ |
(D) @ETgAIAGEN : S
3~ The legal right to use software based on specific restrictions is granted via a
A) “software privacy policy B) software log
C) software password manager D)_software license
éréw % MY IR 39anT 1 o o1 faftes e T e
fera ST 2 | ‘ ‘
(A) GRS MUHRr i (B) TIFRAT AIT_

(C) TIRT TG - Jetih (D) - WIRST ATGEE
A Antivirus software is an example of

A) business software B) an operating system

£C) a security utility ED) an ogﬁce suite

T - TR I .

(A) IR HITEAT H (B) e G |
(C) T TRET SYFIRIAT 1 (D) T R (NThe) Taim(Eie)

A) the software doing the right job for the user.

B) it being versatile enough to handle the job. .

C) the sol%ware being able to run on the computer.

D) software running with other previously installed software.

B &

(A) SwERIT & o7 Hw= B Fel 8 H e |
(B) g o for it farfereran & |

(C) a:mgmaméﬂaaﬁmaw .
(D) TEe & Tt WiFeea o HY HIRR H1 o |

3 . Code No. : C-702/2021/Series-B

j{ Compatibility in regard to computers refers to




/ Programs designed specifically to 1 ose application and
special P“"P,E)Mlpllcatlons e calﬁ;‘i}dress general purpc
EC} Application software °

tem
System software eratg:r%e?ﬁnfonnatlon systems
' R arfvrea iy &y é M §§w aen ferdre-
ST & Y 71¢ & e
(A) 3 LR (B) weIme™
(C) 9= wiweaw

(D) W‘Gﬁmﬁﬂ bt
The capability of the operating s stem ‘to, enable two or more than two
&execut&smultaneo%sﬁr in a sifigle computer system by USing'a
.,: mg % Pﬁocessor is
t

1-execution gB; Multi-tasking

Multiprocessing D
Eﬁf FE T H Ushel G HT IRV FHTCH
aq FsaTe 0 Y s o ) award

(A) sg-fised  (B) wg-wd (C) WgWhAoT (D) SghHIYA
V8/ Whlch c

onverts and executes one statement at a time ?

Interpreter (B) Compiler  (C) Converter %D) Instructions
T HHY 9T TH HYF ! IRafdd a1 39T s i

(A) fd== (B) JgmE () whafr (D) o

A compiler is

A) a program Wwhich translates an assembly langgaggpr_ommto machine
_ EB? a program whlch translates a high level langu

N4

Multl-programmi %

age into machine language. -
a program which translates a“program wrltten ina high level language
to another h1 h level an uage.” | |
(D) None of these |
T AT 8

(A) wmmﬁaﬁsmmmmwm wrunir JATE FAT R |
(B) Th ShHTGH ST I Tt MTHT T 431 WINT  STETE L € |

© wmgﬁﬂﬁ@ﬁwwﬁﬁa@mm@ﬁﬁwwﬁm

(D) ¥ & =15 78

W Users use often for access to mainframe or super computer.

(A) terminal (B). node (C) desktop (D) hand held
| F8q TYE g F aw&m I A { |
(A) efiTe (B) s (C) éﬁ (D) T
JJ/ Whlch of the following is a small single site network ?
1 T T THeT S SHTet5hA & 7
%/( 5 is the name of the nef ork topolagy in which there are bi-directional
€ name oI th¢ ne t 1ch there are bi-direc iona
mklscbelgween each os31ble %L‘IQEOJQEAUD v -
’ T C) Tree (D) Mesh
amﬁﬁg%ﬁaﬁﬁﬁsﬁméﬁ & 39 TR FIAH TR ?
A) o (B) &R ©f = O™
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A website’s main page is called

H its
O s R e ey P28 (©) Search page (D) Bookmark
M B R (O wi )

{4~ F.T.P. stands for

File Transfer Protocol Transfer Proced
{c} File Transfer Premium B) File Transfer Procedure
F.TP. 9 | iD% None of these
(A) T FEH ST (B) TEd ZTRAHL MR
(©) et g () T AR

The process of a computer receiving information from a server on the

internet is known as
"(A) Pulling (B) Pasting ©) Downloadmg(D) Transformmg

T G 3EHE o R B T ST e 5 T ] ST S &
(A) TiRHT (B) uRm l(C) mr%n (D) ;:aqq:ﬁn

16 What is a modem connected to ?

%Pmcesser (B). Printer - (©) Mother board (D) Phone line .
! THed SieT ST & 7

(A) W ®) B (C)mﬁe (D) qaqa—rsq

\}}/WT)ﬁCh is a g@pblcﬂ.@mwm of an application 95
A

. '
-

(A) Windows 95 . (B) ‘Windows Explorer

(C) Icon (D) Taskbar . & i)
@Wmmwa’ﬂqm% 7 : .J., # Er:.‘
(A) oK 95 B) oW T

(C) 3gshd (D) [ALS NN '

Which' software application would be t_he most approprlate for performing

~ numerical and statlstlcal calculatlons 7.,
Data base - (®B) Document processor

(C) Graphics package | (D) Spreadsheet :
S F1 AR Wa@mmmqﬁﬁm 0 o T quaﬂ'é‘nn?

(A) Tram - (B) vrorg T (C) Fmerd! Yo (D) oEsiie -

\}/ In order to create columnar data in MS- -Word you need to
(A

.Tab consecutwely un’tll cursor reaches the desn'ed place
B)  Set tabs or use the table menu -

- (C) Youneed to use Excel . - |
(D) Press th :_di%ace baruntil your cursor reaches the desired place

MS- \é/;rd % amm
'(A) ST a9 e gam Gﬁ % uelchdch (FER) WM WIEH |
(B) %aﬁzm%mm(m)ﬁgmmmﬁl &

(C) Excel 1 3FEM T |
(D) @mem%ﬁﬁmm(ﬁk)aﬁﬁwmq@|
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\}9{ What is an embedded system ? .
v + (A) A program that comes wrapE)ed in a box -
O AT e o ofa ok computet ince
D) A ggnmlgﬂtgf :m?i é%f%are system that co%trols o machine or app
3T TATIG o F1R 7 L w
(A) T ST W7 U s H ouel AT R |
(B) T AT ) Toh Pl i T fe 2 |
(C) o T T T 8 DA TN & s
(D) T FFRIR AT WA T Wl T 7 mmﬂ'—rwﬁuﬁw%;m
1o i erior to an analo er in terms O )
2/ ?A}hggé%lt,cgégggg; l*:lsnscilgﬂarsatility gB%g gggnt%lll)teed and space requirements
C) cost, speed and accuracy None of these
T ST TR U 6T HAE § Sy HagRe | |
(A) WOTd, TRYGAT A feferert (B) i, TRy 37T TG i A

() =, T 3R RS (D) T & HE T e
2 ﬁgl uniform interval of CPU time allocated for use in performing a task is
own as |

A) realtime _ _(B) _seektime (C) down ti D) time slice
mmﬁw@ﬁm%@ﬁﬁﬁamﬁ‘%?gﬁmai%magw

HTHIT FHEA &
(A) SR H1et (B) AR H (C)  AEIRY 1t (D) whied e
A microprac chip used in'a PC system

) performs the arithmetic and logic functions -
is the only chip found in most PC models =~ ™"
~ (C) almost always operates by bits of data at a'time
performs theé primary, storage fuinction
PC T A I e wenersh f |
(A) TR T b T i e 2 |
(B) iRt PC Aiew # o Jg! fod W1t &I § |
(C) T ghE e % forew & U R W SR 2 |

(D) et deRT R w0

\2}/ Mouse is known as

e EA} pointing device . (B control device
~ (C) monitoring device D) gaming device
S FANRIMTAE |

B wFI  (B) FEmI® (0 =wheta ©) Iz

S~ Which of the following kind of devices allow the user to add components
and capabilities to a computer system ? (I

(,8 g:(pansi?in slots . (B) Syétem boards

ora%g, evices (D) Output devices

3 U M 8 TR H IR IR ) HrEe o A TUeE
Wﬁmﬁaﬁ%iﬁ%? | IfF HPI A o IR g
Ao (A) TEREET (B) WA (C) sierwafw (D) Feimaf

Code No. : C-702/2021/Series-B 6 —




26 Which is thewrong Sabement sbout non-impact printers
B They can print carbonycg)pfg‘ange type-faces automatlcally it

C ;ll']l:%)iv%% not involved strike mechanism and only few moving parts are
(D) They are faster than i 1m act prmters
L HT U Tl B
(A) Fﬂﬂ?"ﬂ F‘q mm‘ﬁﬁ me‘ﬁﬁ%
(B) & w1 St I () w wehe € |

© = 7} 4 TR T ) oy el B A el oS A < g
Which is the most popular medium for direct-access wwge of a-
(A) e =IfsFHI (B) RAM (C) ROM (D)

it stores more than S
DRAM 1 <1H

T 2 S SRAM A ge¥ & |

(D) SRAM % ThIect F61 éamﬁﬁﬁmmm%n
(A) (90); B) (85 (© @D ‘(D) 9910
(A) (10111), (B) (11000), (C) (11011)2 (D) (10011),

SRR & |
D) aemw (Bre) aaw g |
fgr)npﬁldter : tic disk(B) RAM ( OM (D) M
agnetic dis C) R agnetic tape
T T o TodTd WUl h e aqﬁmtl%? e AT AT B H S ?
;s/ Advanta e of DRAM is
| B it is 1nexpenswe and chea Iv{)er than SRAM-
C) it is faster than SRAM x
its data can be easﬂy erased as compared to SRAM
“®B) u%SRAMﬁmnmw% |2
(C) 7€ SRAM & 091 8
/‘2/94 Conversion of octal number (125)g to its decimal number is
HETITA e (125); 1 G 3 H
367 Addition of (1101), and (1010)2 is
(1101), T (1010), =1
3L~ A code used for standardizing the storage and ttanyﬁcu)f_mformatlon
amongst various comipufing device s is_calle
fafy P IRl ot § gEl % ST QT Tl % mﬁwﬂ %@

T eI €

(A) CRT (B) CPU

(C) ASCII (D) None of these / sﬂ'ﬁ q El-ﬁi EH|
(.;2./ ich is a collection oipLogﬁ,__ written to provide services to other programs.?"

gA; System Software eal time Software

C) Business Software (D) Embedded Software .

S T T GG & U AT <h Sf 3 ﬁ%mmm@%gﬁa@w%?

(A) T GRER . (B)" ST oeh ShieT AR

(C) SR AR (D) 3iq:eiia AR
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\3/3./ Each model of a computer has a unique

; : chine language
() fasgmbly of a compule D) Afof these
s i 2/ 2 |
(A) FrE 1 HigTa (B) = Wl
(C) S= =Ry - (D) T

34/ A linker

% creates a load module .
IS not necessary with variable partitions
C) must be run affer the loader .
1S not needed with a good compiler
T e (foem)- o
(A) R vfowus s e | .
(B) IRl foniror < wrer s T8 8 |

(C) Wi (F) & w1e T AREE 2 |

(D) T 3= |V (FFI15eR) F a T F8i 2 1
357

1)

- 9g-a/ C| 5
(A) TEhida qe FEhi (B) YeisHiya q STqEisHi

The combination of operating system and processor in a cOmp UIEE-. 18
referre "as a computers e o

{A firmware . B) specifications |
C) minimum requirements ED platform L

E’T@@T%ﬁmaﬁaﬂtwﬁa@@m) H&ﬁﬁﬁgﬁmmﬁ?%w
| i : ' ‘

(A) (B) ffrw
(C) =¥ awEar (D) eHH
The operating System as a memory manager a5 '
(A) keeps track of memory - (B) allocates memory
(C) de-allocates the memory (D) All of these
- 14 Y% % TR R =61 7F | -
(A) HiaHigRw@ae | . - (B) Hfufrawwz |
©) Hia= amasma | (D) I|adft

Multi-tasking can be classified as. R A I

(A) - preemptive and coopérative (B) preemptive and non-preemptive

(C) cooperative and non-cooperative (D) non- reemptive and non-cooperative
" ﬁan% mm% | | -

(C) ogsilaul SHehlt (D) SRR T THEHR

/ Which bar in MS Windows contains the _name of the program a computer

user is working with ? o g |
(A) Ménu (B) Tools - (C) Title. (D) Scroll
Msﬁ%ﬁa%ﬁq'éwﬁwmwm@m%ﬁa%mqmm
U HH B G EAE 7, -
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Z" n the split window miode, o

Ay//- dalr)ker title bar ShOWS \:flfn:jlg&?fgtlooks darker than the otheT, because =¥
Sarker title bar shows active window - -
darker title bar shows available o oW

D) None of these
feret TS A @Elsaa‘waﬁiaﬁmﬁmﬁ@m% i1
TR
(A) T&U e S E?é’f%a-%ﬁ%ﬁaﬁﬁw%l @5m

-4 20y,

(B) &Y ZrEeH SN % we |
(C) Wzﬁzﬁaﬂ 3qcisy Qﬁ'{g}‘m Vi

s:rﬁ CEIE !
\/I’ S-Word text boundaqlr can be displayed or hidden from
A AUtO text option from Insert menu Options from Tools menu
} Customize from Togls menu & All Ofthese _
MS-Word #3FE SR fe@mEn ghai 2|
- (D) Fadt e

(C) T g ¥ HEA
s the shortcut key for manual line break ? ?

41— In MS-Word, what i
L/L/MS Word ﬁﬁgﬁﬁ?ﬂ?%mmﬁﬁgﬁﬁﬂﬂﬁ% ?
(C) Shift + Enter (D) Space + Enter

(A) Ctrl+ Enter (B) Alt+ Enter
In %vlS Excel con gmlgktﬂpmﬂﬂla to exhibit specific information 18 _ |
(A) Calculatin (B) ecord% (C) Merglng D) Summansmg
MS Excel ﬁ%‘ﬂ? fite o7 G FA S .
(A) Excel, hi hB kept th (C) q?’l li i d?
InMS- which menu ept the eroup_and outline comman 3
}3/ ata %B%i Form%t_ ’gr((,% Tools (D) Insert
MS-Excelﬁ B ﬁgqammmﬁo @ME?
(A) 3T C€) «H D)
Excel makes it easy to enter value mto many cells with just
(D) . None of these

J/ Which feature in
fewelics 1o (@) Fill C) Fillb
ill series ill box _
(ﬁ R Hed ¥ " <o ST ITEM

(A) Fill cells
Excel ff ﬁ'—T dt ﬁ??lﬂ?ﬂ S & T
) frasm (D) TR AFR T

e ?
(A) ﬁmﬁw (B) foper frlt
457 Excel function that rounds a supplied qumbers down to whele integer
Excelmma‘rg%mmnﬁm 7 01 T &
(C) CEILING - (D) INT

A%VIROUND (B) FLOOR
gn S-Excel, t the previous cell in amidﬁ%%ﬁs
bkey (C) theEnter key (D)_ None of these

(A) the Alt fcey (B) the Ta
- MS- Excel iaf-a’ﬁ?iﬂf(ﬂ'{( )ﬁﬁo@fﬁaﬁmm%mm
(C) Enterssit (D) T A PR TE

be viewed through

- (A) Alt i
47~ A portion of the worksheet isplayed on the screen can.
_ % ‘The active window

orksheet Window
The cell

EC The task bar
TeRi S % R a’mi@mm%l
(D) &

(A) a%?ﬂzﬁﬁﬁ (B) giFafasl  (C) TR ER
9 ' Code No. : C-702/2021/Ser1es-H




4 sx extension is used to save and run t shbw
‘// ?%F resentatlon | B; II:/I g\’f;gro&n %
7 3 R 3'””

mp late
@A) Wit (B) Wﬁﬁ (C) FTC (ained in presentatlon
49 Which are s ec1al visual and sound effects con L ,
qp D) 'Ammatlons

éz%phslfglgll:tlons (B% Grz%)hlcs (C g%ractlons 27
(A) Rmg@ER  (B) R Yo wmm ® =

e ’
30 - Which keyword is used for 1 unde_l:l_ne tllB tﬂKU Egesen tatIO Gﬂ?ﬁ‘% ?
YT IS H ST bl ST ( ) C by
(A) Ctrl+U ~ (B) Ctr
(C) Ctrl+1 ‘ (D) None Ofthese gﬁ a @é qﬁ

51/ The Microsoft clip gallery allows ou to

" (A) add WordArt images to a slide
B spell check your presentation -
add Ch}f)Art images to a slide or slides

None of these - .
TTESRITR R Aert o a?raqgtrl?fé?ﬁ%l
2 - (A) WordArtﬁ:Ta’ﬁ WS § oS ur:
“ (B) am%ﬁﬁ%maﬂﬁﬂéawﬁ | ‘
(C) wsgawws@ﬁﬁmaﬂéﬁasﬁaﬁ

}}: U datmgadatabase means S
revising a file structure X EB; rAeﬁrgfartllllzmg ithe. database -
of these L)

C)_ modifying or adding new records
IS A

(A) PEAEEAEERE  (B) Wﬂ?’h’fw
(C) T Ferid Sien FryaT gt e (D) It 3
_amelersofaquery?

What do you call a collection of records m
(A) “Field ~(B) Record _ (C). Query (D Dynaset

mwm%wﬁwﬁﬁsﬁa&ﬁ%ﬁaﬁwﬁm
@A) e .0 B B . () = (D) :ena:n@z

5 %ﬁ )E‘ZST F@g@%\%ﬁlﬁute S ls/are represenlted b ( Tl
ipse ed ellipse rectangle D) trian; le .
E-R 3@ #, a1 01/ wi fieaor .. @ | g A
(A) s (B) W . (C) FREW (D) frepror -

(‘i‘%“’ﬁe at?fid“"(ﬁl)"d%ﬁ%é‘fed e % G4t n & predotpinant way
iona yject-orien etwor D
T 5 i 2 1 4T 1 o e e 3 31 S %whalm

(4 'té'q':‘ﬁ‘ S (B) demR-aiRe
(C) W . 7t gD; BTEUhIhe] -

— c— —
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In DBMS, ke lo re mscnl fClﬂtlon

rima ship between tuhlcq ig colled .
DBMSﬁ C(.ontﬂfykcyF ) rm‘mbn cy (D) %/.\” Of'thesc%
(A) TR0 (B) §[ “g" ) (c tmhcﬁ! (o) a8 T
alled

In a relational schema, cach tuple ig Ids ¢ b o 2
dl\”dul'*m'm"ﬁc %D) All of these a

) relations (B) dbmains
%asmwmﬁ WETAR ey (e o e
(D) T& i

(A) fem (B) S it
_~ Which of the following dat 1 Jluc in MS-Access ?
A8 ?Xl)uc"ll‘r?le “330860‘ S% a o1s usu(l é()) store IochIvluc)mA“Of?ﬁggg
MS-Access ﬁﬂ%ﬁaﬂ 1 8 % Y 31 T
mwﬁﬂﬁm%?
) =@/? (D) w& ol

A) g/®rH (B) M/
J9/ Wluch of the following type of chan ch'umels movc data relatlgely,slnﬂ_y_?
A Wideband channe “Voice-band channel
C} Narrow-band channel D Broadband channel
o e e ) ame: R @ e Rggera 8 7

FA A
(A) TEEAs o (B) Sizg ¥g 97 (C) W (D) Fgdre

607 LAN can use architecture. —_—
to peer B) client-server o>
& Bierarchi E % Both (A) and (B) !

E\}N iermhw%%mmmmﬂwm% . _
(A) fame e (B) FEe-gdt (C) gEuwhed (D) 2F1 (A) @ (B)

each node has number of nelghbourmg nodes.

61~ Ing
‘/V 3, T 1€ % H T qeEiAe e |
C) 5 D) 10

(B) 3
Mn whic SI layer/s does the FDD protocol operate ?
A Phy swa g Data link
C Networ Bot%%%and (B)

FH I osmm/aaﬁﬁr«‘oomaﬁmkaﬁﬁ . '
©) Y& - (D) 3Rt (A) @ B)

a) e (B) EINED
(037 An internet like network that is used exclusively w1tme_rgan1zaiLqmsuch as

USINEsS is calleda/an
%&)‘Tﬁm Hypertext (C) Frame (D) _Protocol _
w0 3§ AEERE S G % fiw 3T ¥

FoTT T B, HEdl 8
(B) TEEE () W D) shm

(A) FEE
647 Specialist programs that assists users in 1 W@e

called
é Search engines

fA? Information engines 2
esource locators _

SRR ) HE & B §, HEe &

TRt

Web browsers
ﬁ@ﬁrﬁwﬁma‘féﬁm@mﬁlw
(Wgmw @ W (O FE 0)
11 Code No. : C-702/2021/Series-B




Commercial Interne rovider include ..o Providers
/ EA} National Servugesf’%l\?ﬁigrs BCI Regional S:rv e
Wireless Service Providers E; All of thes
e g gffa TaTEst
(A) W afdg wame - (B) weRr
& (C) Irereiw wifa Wamet (D) wg ot « created in MS-Word 2
Which of the following is the extension of HTML documen ﬁﬁ%ﬁ )

GﬁHTMLEﬁ‘@E MS-Word ¥ SHR 7 § 3aa ©

S . .
(A) ! (B) .pdf (C) .htm (D) .do
6% What isfg%:mu form of ARP ?
O Addness Resoluts Protocol
lution Protocol  (B) Address Resolving 11
g_é} ﬁggggg lggff?)llllltllon Protocol %D% Amendment Revolution Protocol
68.” Triggering phase in virus life cycle is responsible for
gA} replicate the virus f its deactivation

C) starting perfonmngd:_dts function (D) activating it
IRRG e % A ?
(A) I Niaaierd STl (B) 3 fafssmeenta
‘&C) 3GHI T5hAT HA A T (D) 39 GfFg wE
J on networ secm‘lty is
: ;Z: release of message content EB% traffic analysis
C) denial of serviceattack D) All of these
R THIT gHAT &
(A) fov-awg =1 sy (B) ciftheh fargaiwor
(C) @mznﬁmw (D) o

}0/ The term ‘copyrights’ means

A) protect expression of ideas
& protect inventions,

allows the. dlstnbutlon of the result of the secret
All of these -

‘IS’ 65 i Y B

(A) ﬁaﬁﬁa&w%ﬁg{mm
(B) JATrShT =hY GRaT Kt

© W%W%mmaﬂwm

Wﬁlch two or more input SIgnals in which all | input must be e high to

eta hout ut
| %ﬁm%qmem P 1 31 2 o 2 e 2 e
1?rA ORﬁ—%m WF@SW%' i
chh a ows us to(sgemfy relat‘;onshlga(s:)beﬁgngmleal(glmﬁgg‘7

oglca algebra

Mathematical algebra
Bool eana ebra %ﬁﬁ]ﬂﬁam#,j) lloé?hggﬁa?ﬁ%
9 | gyl ?
(A) THET ST (B) EISIES]

(C) wefia st (D) Faft

‘ode No. : C-702/2021/Series-B 12
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\V The race condition is related to

gé . lgﬁ!\llﬂ;‘i]&llﬁlcmu" {B; asynchronous circuit
Y TR TEY R D) sequential circuit
DT )
() (D) it T B

& Which is considered as a sequence of characters in a token 7

%\%gﬁgﬁﬁ g\%n#;cr;ﬁ ? (C) Pattern (D) Rexeme

(A)%fq‘-\‘-’"1 (B) ﬁﬁﬁm | (C) b D) '
15 \}é’]}llcﬁig‘g t&xs% él“gg}'gé\gtng ns/arc.RISk.Mn{ngn cment &ﬁmfi“—?
isk analysis | B
Lnﬁmaa%wmm@mjyg“; (A) and (B)
(A) Sifgn futo (B)  Sfw R (C) - <hftaw st (D) F AT ®)

~” Which is present in spiral model ?

A) Code generator %B; Risk analysis

2C} Code optimizer 3 D) Re-engineering
T ?

TS HISA Cll ‘
(A) TIAGE  (B) Siew R (C) FeTwE (D) TRERHER

77~ A variable that holds the memory address of another variable is called a
B) ‘pointer -

A) integer < .
C) constant B - (D) memory variable
T S I T R T R, el @

(D) wffa=

(A) s ® T - (C) I
J8." In MS Word the keystrokes Ctrl + I is used to _
' nserts a line break

e font size B) 1
fC? indicate the text should be bold é)#qapplies italic format to selected text

MS Word & Ctrl + I bR 1 I feRa ST 2 |
(A) BIC YRS

(B) T i el _—e
(©) %maﬁa‘éa’éqﬁaaﬁ fﬂ;;.’l

(D) Ta R gU 3o W geTfereh A W

297 In MS Word on a split box
(A) the pointer changes to a double horizontal bar
(B) the pointer changes to a vertical bar
(C) the pointer changes to a double horizontal bar with an ellipse
(D) All of these
MS Word & fefee s o
(A) gt T dfera e & e TR |
(B) W@wwﬁmm% |
(C) digt gferea o wrer @ fidifers s o v W @ |
(D) TEadf |
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T t sheets. Which of
8"/ Each Excel file is a workbook that contains differe? the

llow t be a sheet in workbook ? t(D) Data sheg
(R)O\Q{rta%kcgﬁc%? ({133) Chart sheet (C) Module e (%) t

| \
MS Excel wTgel 0 T 4 Rat faftet el 1
< b 3 et 7 @ el 7

(A) T ¥fie (B) =% e (C) q’[’;{ﬁf?ﬁz (D) safe
auto formatting {B% al’d’lyi“ styles
rsnasa? |

§y Data can be arranged in a worksheet in an easy to understand manner ug;
& €
C) changing font . D) All of thes
E ; %mqaﬂaﬁhﬁzﬁéﬂqﬁm%wﬂﬁa@mﬁ
(A) FABHTT (B) REwmewm (€) wede™ (D) Twmh
827 The fill scrics dialog box.in Exce] has sections:

A) two (B) three (C) four (D) five
I(Ex)cel\ﬁﬁﬁﬁﬂﬁmﬁﬂﬂﬁvﬁ T E |

(A) @ (B) = (C) IR (D) dufy
“8(3/ Excel function that rounds as

upplied numbers down to a supplied sj ificance :
Excel 51 Y T 133 T2 a1 o 7 eoet o 0T et B, o e
A

§//( ) ROUND (B) FLOOR (C) CEILING (D) INT |
4.~ In MS Excel Ctrl + O ig equivalent to
- (A) 'save thefile - -

M B) open a new file
open an existing file D) delete a file
MS Excel # Ctrl + O FEARR|
(A) FEEHRIGRESHE . (B) T HTee e
C) AN Ra @t (D) Wi Teefie e .
Which of the following is used to add time to the slides in a presentation 9
A} - Slide show menu B) Rehearse timings button
EC Slide transition button D) All of these
@% T WTEeY U g9 S § fr=fafen & & freer swiin iy
Saig ? i
(A) WEs g  (B) Td ersfiimwen
(C) WSS TFAISH e, (D) I usf |
86" DBMS helps to achieve
EA} data independence B% more redundanc
C) cen manner to control of data(D) Both (A) and (C
DBMS ST T & Heg AT g |
(A) T (B) 3tferes arfershan

(C) < e <) Sl ify

(D) NI (A) T (C)
8 Which is not an option for customizinge a datasheet window ?
A; Change one row’s height ?B% Hide one column
C) Change one column’s width D) Freeze one column
ﬁa—s%-_- PETHIES ST 1 I A1 T [oohed el 8 7 :
(A) T fert B Srerd wewr (B) Wwﬁ%ﬁ'
(C) T hieH i =Ter semm (D) @Wﬁu HET

' Code No. : C-702/2021/Series-B 14



S1u1’ isatr
,j}{ A) R g‘g lbutary of which river of HP ?

frser R aeaaqd:elena o Bas . (D) Satle

@A) W (B) E
_/39/ \IAA’hlc}l{ is the largest artificial lake of leI(’:)? ‘ (D) as
%) ernky Mwalsar (C) Prashar, - (D) Gobind Sagar -
SR ?

( (A) tﬂi'” (B) Teww (C) WRR (D) e AT
Chabutra Hills are located in which district of HP ? |

(A) Bllasigur %B I%g“f (C Una ' (D) Mandi

(A) ﬁore‘at (B) TK (C) Fn . - (D) W&
Kaleshwar fair is celebrated in which district of HP 7 .

A) Kﬁa NI ) u%lwm%%am; '-(D)Z-Sirmour
A TS B) T, (C) ==l (D) frR %%%

32/ Bhaba Valley is located in which district of HP-? - :
(A) Kmnaur (B%T Lahau Sp1t1 (C) Shlm a (D) “Solan
I IRCIR TR RS

@ R ®) wde—vﬂﬁ © fe (0 dw

33/ Bhunda festival is celebrated in which district of HP ? o
(A) Bilaspur Ly é]g{) Mandi. . (C) Kullu - (D) Kinnaur

ST TER 18.% ﬁﬁl@fﬁmw%? 57
(A)ﬁmegt @) W& (C) T, -(D)-%ﬁn_
QA/ Shringla mountain peak is located in which dlstnct of HP 2. ‘
(A) §hlmla Kinnaur (C). Lahaul Sp1t1 D) Kullu )

l%’sr. A Tt # fRm & 7

(A) fsmw . (B) FFR ©) . - D) T
: Vgs Bhai Hirda Ram, a famous personality, belonged to which district of HP ?
: ~7(C) Shimla_. (D) Mandi

(A) Sirmour (B) Solan =~ ( ) .
mmﬁﬁwmmwﬁq ¥R AT 7

(A) Rt - (B) @, (C) Rewm (D) ot
ari princely state was founded by which ruler of HP 7
(A) ool Chand (B) Jai Chand_ (C) Vir Chand = (D) Purab Chand
Tt T ,o@nwﬁa’sr %aﬁqﬁmﬁﬁaﬁ? |
(&) ‘E"ﬂﬁ (B) SHEEG (C), =g (D) T

The ¢apital of Kunihar dominion was located at which place in HP ?
Rajpura’ . (D) Sonepur

(A’)I atkot1 B) Kotghajr}mﬁq g% Rajpd ?

(A) -e'mﬁff (B) mmﬂ (€)™ (D) W
98.The old name of Shimla was .

A) Simla (B) Shonitpur (C) Baned (D) Deorha
| <pl JUHT qH AT SR

(&) R () TS © W @ W _
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y Shivalik moumninn are popularily k"““’" Maulak Parvat

i Main nrvm
)nncas Fo y $ ); Nonc of these

:mmﬁun . ___ﬂ:m:n:mm a
(A)ﬁmmﬁa @) Mewmdn () &R P (D) THAHETH

100:” Maharaja Rnn,lccl Singh appointed which of th

ol‘l(ang;t'ln:m lmnd {B) Jiwan Khan

{ } Desa Sin ithia D) Nong of the?? e Frga Tk o
i%! {gﬂﬂﬁ 1 fired WW(D) i & 7

")/(A) drocl e fm:? iy (C()l hich river of HP ?
Raura hydroelectric project i8 constructed on whic
a)mlllui's Iy Chenab (C) Yamuna (D) Satlej

mﬁmimfn Rag T TR 7
(A) wm B) (C) q (D) HaeTd
02, Which is called Ajanta of Himalayas ?
) Mrikula devi temple 2 Tabo monastary
ig% Gondhla castle Dg None of these
1 Jyeicl HET A& 7
(A) TEnAR(B) W () fwenmg (D) FHARET
Who is the longest serving female Chief Minister of any Indian State/UT, as

e fonowmg as the Governor

0,{ Ma 120211 i?th 5 i
ayalalitha Mamta Banerjee
{C; Mayawatl E Sheila lesh?t

ni-zozlaa:m’ﬂmteﬁam/mha % FaR g YUY T Gl ¢l T

Teen g R At 7 |

(A) 3. Saaferar (B) wHarest  (C) AT (D) fen <iféra
1047 What is ‘Mayflower 400’ which was in news recently ? |

i ; Mining Robot B% Artificial Intelh ence Shl{)
& Solar robe ‘ D) Vaccine Dehvenng Robo
T H FHE § R AATR 400 T E
(A) THTER (B) Bbm gfg et
(C) ¥R ulifEm ' | (D) <! YgH HT Il Usiie
1 ‘Putola Nach’ which was in news recently, is the traditional string pu
/05 art of which state ? d s p ppetry
gA Assam Bg Arunachal Pradesh
C Uttarakhand Odisha
Tra’, S BT @ & TR # o, B @ TS ) IR Fegel Hetl ¢ ?
(A) m (B) 3reuTEe Wew (C) Swu@vs (D) e

{(}6’ Footwear is related to Cobbler in the same way as Furniture is related to
(A) Mason %B;g Goldsmith (C) Carpenter (D) Potter

B 9 e 1 HaY @
ﬁx) " Tt R ? AR A (C) Tedd .. (D) T=RH

issing terms in the letter series b .ac_cc_cb_ab_ac are

b_ac’ cc_cb_ab acH
(A) aaaaa (B) bbaac FJ—L-d(C) abbbc (D) aabba
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ag./hll a certain code language the word NT . . C i
: ‘KPVGPLYJ’. How will tﬁe word ‘LIFEB@LT%&%EW%% l‘grl;lgj:‘tlilé?‘?s

et PP e wi #, ‘(INTERNAL’ ) ‘KpyGpLY])’ g
3 ‘LIFEBELT’ Wi, & a1 s 7 Lt foran mn g 1 3612
y NKHCZCIR (B) JKHGZCIR (C) NKHCZCIR (D) NKHGZCIR

9. Raman ranks sixteenth from the top and forty-nj ‘in a
}O class. How many students are there in the clggéy?nmth from the bottom T

e SHEAT N T 1 5 S W BICTEa @ AR Y wrerrersii 2 | s A Rpavi oE € 7

A) 64 " (B) 65 © 66 higpl A

110 Erb%{ﬁl_nduné 8 . | .
ilicon dioxide B} “Silictn cathi

fc} Silicon nitride ED% sﬁigg’ﬁ g}ll[;l))slgﬁido

(A) IR SRAIFTES (B) ffmri Fates

(C) Tafershi reeres (D) Rifrert BiepEe
Mmrhg sleep, the man’s blood pressure ‘ |
Ag ecreases B% increases CkCH

C) fluctuates D) remains constant - [s]i%s

H TR § AN g B <
(A) TR | (B) weaigl .
(C) wed-Sgal Eal ¢ | (D) RrRwE@RI -

12--Milk, cheese and eggs are sources of which vitamins ? : P
(A) Band C (B) AandC (C) CandD . (D) AandD
<, Wit e st i @ fefr 6w e 2 - |
(A) BaaiC (B) AdaiC (C) cawiD (D) AWAD
13 The extreme form of Ahimsa or non-violence is practiced in o ,_
(A) Buddhism (B) Hinduism _(C) Jainism (D) None of these .. -
41 % =R ¥ I TGN - TE L
(4) Sgw  (B) g (© Ww (D) THIAFKT
M./(Jhandragupta Maurya overthrew the power of Nandasat .. o3

EA} Taxila EB, Magadha '3
C) U D) Sravana Belgola

jjain s
W%ﬁﬁ.ﬁ%mﬁ femawfan) o )
(A) wafenr  (B) W (C) SN (D) 30T e
15. _Who was last Mughal emperor to sit on the peacock throne.? - &

l/(A) Bahadur Shah Zafar - = (B) Aurangzeb
(C) Muhammad Shah (D) Shah Alam IT

TYEA W aﬁaﬁﬂ‘%mui WEHAY 7 g e T
(A) wETgwTE ST (B) g (C) TEEIAE (D) WE IeW I
MIbuquerque captured Goa from the ruler of TN

(A) Bijapur (B) Golconda (C) Ahmednagar D) Viia
aaaaa%ﬁ %Wﬁfﬁaﬁma?ﬁ’ﬂ'{'ﬂ%ﬂ'{| ) Vi e

A) TR (B) Memiel  (C) FEEIR (D) fRerAw

T e, S

— ——
— e — —— e ——— — — ——
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: i ainst the
117 Gandhiji started Satyagraha movement }1311 1919 in protest ag

wrongs
punon Commigsion Champalrgg loitation of Indiy
C)) Enactment of Rowlatt Act D% Colonial €Xp
{' 19197, &1 fely %0 mmsaqgaaqmwﬁﬁm
(A) T (B) =PIV & 3T

(C) e rfufem % Rl (D) T BT SR T
. The first Indian Councils Act wai;_}i pflm%(sgd in
TR 73T |
A) 1853 (B) 1857 (C) 1861 (D) 1892
119. The President can make laws through ordinances _
gA only on subjects contained in the concurrent list

B) on certain subjects even when tparliament is in session
C) during the recess of parliamen

under no circumstances

_ ST ST Thal B
(A) 9 3 forer oo St e et arf £ |
(B) V& §Hg w= ¥ § 79 Wt 5 R w

1267 '%e Vice President is efli_grible for re-election by

Constitutional provision ~~ (B) Convention
Law of Parliament

D) Supreme Court Judgment
ST-TZYFa yfEr S )
(A) G T (B) THeH
‘ (C) wagHh fafy - (D) wEr =™ % Pl
1247 Eighth Five Year Plan covered which period ? |
SIS ECH DI ot ?

a‘;-" AN
A) 1990-95 (]%) 1989-94 (C) 1991-96 (D) 1992-97
. The National Adult Edu

cation Programme was launched on
EA 15" August, 1977 ng 16" January, 1978
C) 2" October, 1978 . D) 30% January, 1979
AT R8T HRISHH HT A 1 g | ~
(A) 15377, 1977 (B) 165Had, 1978 (C) 23R, 1978 (D) 305, 1979
\1}3./The goals of monetary policy do not include
fA Ei‘lcg stability = . ng maximum tax revenue
C) tull employment D) maximum output
Fifer < i & wfeifer 7 @ .
(A) g T - (B) 3tfererc & 3P
. C) Ui TSR | (D) atftrepaw fofy
124 Solar eclipse occurs when

A) Earth comes between Sun and Moon
B) Moon is at right angle to the Earth

C) Moon comes between Sun and Earth
D) None of these

~TIEWT EIfed Bl & i |
(A) T o sl S i ot} 1 (B) i 9o 3 Wy g
©) FHHIMEH Ffmd e | (D) T &b 7
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e in carbon dioxide in atmosphere ¢
K95/ %ﬁ?re?iig in earth tempcratgtrgre P {g-%baﬁ?f?n
C) uniform earg:;acmsglppcr D incrca;élﬁ]hé(fmpc.raturc
qTgAvST 5 e —_— WP W%V;Olct rays
(A) et o T & (B) geef) 3 % o
(©) AT F T E (D) vk it 3 gy

1 ich is a current of {he Pacific ocean ?

€37 'A) Labrador current B) w |
Cy -Kuroshio current B) West Australian current
gﬁiﬁ% u > T U R ? g g None of these @E
(A) HTU (B) 'q'ﬁ{.]'q a;ﬁ_é_%,qq 1“;“4’,‘
FARE form o @i
127, -The smallest country in South America is

AU 'ruguay: E}IB) Surinam C) G
| <frur SAfeRT BT B %I?T% uyana (D) Equador
| (A) S . (B) g™ (C) TR D) e
\JS./Which of following States/UT touches the boundary of four nations ?
| (B) Uttar Pradesh(C) Rajasthan (D) J&K

A) Assam
%mﬁrf@aﬁaﬁm@m I3 HI3A I 1R 7
(A) ¥ (B) FWRA  (C) WH (D) FEHEFR

Lignite is found in Indiain = .
(B) Hazaribagh (C) Raniganj (D) Neyveli

}%(A Rourkela
3 sqr et (FORTTSE) o S g |

Wi #

(a) W (B) e (C) T (D) et
;30./ Antonym of ‘Luscious’ is
~ (A) dry (B) sour (C) ugly (D) stale

131~ One word substitution for ‘One who compile dictionary’ is
(A) Calligrapher (B) Editor (C) Lexicographer(D) Compiler

32, The passengers are cautioned - pickpockets.

(A) to - (B) against (C) for (D) about
133" Meaning of the idiom “To carry the coat to new castle’ is

A; To work hard T }Bg To finish a job

C) To do,unnecessary things D) To do menial jobs
1 ' T el %

@ @ . (B) W © fefm @) T

135,7¢ 1 oo 3 |

(A) @B) @ © wefs (D) <
136, &’ & 37 @

(A) @ ® @  ©™ (D) 7
(37, “7ep T TR bt 7Y B

(A) TTE BT | (B) AR TEIE
. © o HC F RGN (Bl_j’ﬁﬁw‘@m
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138" Which is not a characteristic of a computer ?

(A) Data collection (B) Data storage
(C) Data processing (D) Data copy
i Hl FHroger ) g T £

(A) TuwFw (B) Imvemw  (C) awEeA (D) SRR

139 The basic goal of computer process is to convert data into

(A) Files (B) Tables (C) Information (D) Graphs
FHPY T 1 gl G 227 ) 7 yfafda HET 2 |
(A) g (B) <« (C) g=l (D) 7T

440. In an information system, alphanumeric data normally takes the form of
(A) Human voices and other sounds =
(B) Graphic shapes and figures
(C) Numbers and alphabetical characters
(D) Sentences and paragraphs

“@mﬁaﬁ,aﬁﬂﬁa%mm 'H'?[qugm.m%l -
(A) T 91of} g2 3=y = fy __'(E) ARG ST T MBI

> (C)WW ﬁmaﬁeﬁm - (D) 9T 9T IR
éﬂ/A computer executes programs in the sequence of
(A) Store, Fetch, Execute (B) Fetch, Decode, Execute
(C) Execute, Fetch, Decode (D) Decode, Fetch, Execute
@Wmﬁ%ﬁmﬁﬁmﬁam% ?
(A) HsHT, W,ﬁw o (B) 3, FeHawR, Heaeq
(C) Tosured, S1Ter, Fergare (D) FergaTe, e, frommed
+142 Computer’s basic architecture was developed by | | |
: (A) John Van Neumann .- (B) Charles Babbage
(C) Blaise Pascal (D) . Jordan Murn |

R S e S ) R e |
(A) SHIA=EAA (B) Ied daw 4 (C) =058 Ushet 3 (D) A T 3

.. Which generation of computer is worked with ‘FORTRAN’ ?
(A) ‘First - -~ (B) Second - (C) Third*~ (D) Fourth
- H fieft o FPg I ‘FORTRAN’ % &1 &7 # T wman @ 2
o wwm . @ i o (© T (D) w5

MWhich is television size computer ?

(A) Optical (B) Micro (C) Supermini (D) Mainframe
<1 ATEH T HIA DM A1 8 ? | | |
(A) FHIE - (B) g ©) sfaeg (D) T/

—— — — —
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n chip of com lete electronijc
Me%t?gnig devul:)es is cal I% circuit with transistors and other the

fé; }Xt%ré(rgttea tl(c):lllrcui EB% I(\:/IPU
. 38 Rifere = Rrad T & Wy agnetic disk
ggf%m‘i‘@-cﬁ §, e 8 TR SR uy o o P

_ CPU
(4) Fo-55  (B) ©) whipa oftaw () b =T

cro-computer hardware _consists

i
1,46/ nt?
sical eQUIPIETS . hard drive

A
B

®

1487

150

5

(B)
(C)

of which three basic categones of

Keyboard, monit
Sysﬁem unit, 1nput/0utput memor

System unit, mput/output seconda
{gstem unit, prlm storage; SecO;y a:;rgt%?age
S & i ?
il 9, nﬁ’m @33 %aﬁﬁ'wg

ﬁéa/ﬁfm
ggﬁé faw/frim, %ﬁﬂﬁﬂm
& gebTe, e STER, Toeftes siemo

1ch mouse techm ue is used for access in properties. of_any object ?

) Dr in Dropping
e TR

(A)
©)

(A)
(A)

env

(A

(A)

(A) s @) g () mem D) !zﬁqeﬁe%n

which printer a character prints in only one stroke ? ,
{ Plotter B) Line printer R
C) ‘Pot matrix printer - D) Laser printer igi' ..‘% -

BN 1 i e U R U Ui qiga hiars 7 =

an@'rﬁaa’(taﬁa) -  (B) R
et - (D) wfiw

(149 Which i tput device?
ICPriflt%I; et eVIclslomtor ' _(C) Mouse o (D) Both (A)and (B)
ﬁra (B) aﬁa (C) W (D). (AyEn B

ich device is used as the standard pointing - dev1ce in.a graphical user

ironment ?
Keyboard (B) Mouse (C) Joystlck (D) - Track ball

mﬁmaﬂwﬁm@ﬁ% T E g 1 ST R g 7
wa (@B W (€ s (D) @wEw

ich software could a531st someone who cannot use their hands for

computer input ?

©

Video conferencmg . B Speech recognition
Audio digitizer D) Synthesizer

| Wﬁﬁa%ﬁ‘tmﬁmﬂm U 3% B H1 SRS wga
TEH F qhaT & 7
(A) ﬁ%a‘mrﬁm(s) amg FhEE  (C) - T STHETE (D) NG
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d relatively small form of storage managed by

152, The faster,_costlier an s D) Disk
/5 co lfﬂﬂ;a?%g:ﬁg:yh?é%wnﬂnsh mcmow (C CﬂChe 5 ( % %
,(mmA) o1 ST, WM el STIRTT BIeT e R
’ (c) ?':‘HE?T (D) =fpe .-

L@ FEER @) e

will not loose( when the %ower goes off in

tents of memory ) HEPR By oftin .
y3 The con nory Wil S ese
%{%Gﬁmsﬁ(a’;gﬁ$ Tt 3TenT a1 Bl 98§
A) ROM (B) EPROM (C) EEPROM (D) Z{E’Hﬁiﬁ-
a aq 8
Y 54. %%31’1}1)‘;{1511%?80 18 TB)—-Sglc%nc ary (C) auxiliary " (D) Virtual
aTTaies WSRYT TERUT & | |

NBIRED ﬁeﬁaﬁ C) 49aeh D 'E% - |
557 ,&A()j,sl\vs content th(i),s recorded at thE: tzme of manufact(urg and that canpot |
- be changed or erased by the user is

ém Memory only (B erte OHI%’ ©) Rea%o% _%(D) Run on] .
1 SR =r'é? T GHY ‘% TS
rﬁ"/ I@A) Sl (B) FaAE (C) e (D) ¥aeram - -

( Xi‘ ﬁ'manegt mel?é))ry i\l’/l{ com guter obgcts}lllsegl cidre
L0ppy C15C a arddisc. (D) All of thy
w%mw %re wwfm%m 2, a%% o ese
g[h) ) ToHRE - (C) eeerem D)
lace Where the computer stores programs and data is called :
ackup (B)  Memory : (C)’ Storehouse %D) Storage umt
WW%EIW WW%E‘&'W

ngl " (C), SR & D) “ERUTW
is the process of d1v1d1ng the disk into tracks and sectors’?
(A) Tracking . -(B) Formatting (% Crashing (D) Allottmg
Hfsheht 27

1 7Y 3R G TS | I e b IR e i R 7
%A) Sfeb (B) ®EdT - (C). %sﬁn (D) 34?“'&"
159/ a memory chip is volatile, it will BT
: - explode 1f exposed to hlgh temperatures .

- lose its contents if currents is turned off
be used for data storage only

be used to both read and wrlta data '.

¢ tape (

3t i v R R 5 S '
(A)F@mm wﬁmm%mﬁmm|
(B) ¥ 3 W) %ﬁwmaﬁm%&nml
- (©) Wéan‘sw%@
wﬁ ST T8 3N a2 mfﬁ-gpﬁl

atlfm of the com uter rovides only tem orary storage of ﬁles 9

M memory (B memory( ) Hard drive %D) Mother board

q‘m{am A H 9T b hrget % SCTHTICTH WERU ] e el & 7
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161 (Al)mll\]flls a part of l(lg)syslcm unit ?
onitor )
%Fﬂtﬁ © cp-rom (D) Floppy Disk
) nﬁ‘ﬂa ®) #®HL (o 4 -
162<A computer SL(-rd disk is -RoM (D) et =
£A2 an arithmeficand logical unit EB; computer gof
opem g%g %rstcm D) computer h?zr(mlj?(,
(A) - @mﬂﬂw (B) e wifrzin
(©) serer 3 (D) g e
'1)63./’The system component that controls anq manipula S
?Sdlige 1gf0nc111at10n is called the nanipulates data in order to
eyboar .
C) Mo}mtor %{ Mgcligénocessor
B SUR R R e SR —

(A) TNTE  (B) CHEEEF () mife

L@/Whmh 1s not a computer language ? (D) wreE
%gr Fﬁ% ST qﬁ) ? (?: ©) Fast (D) Fortran

W B CH  Ow () weh

()‘/A mistake in an algorithm that causes incorrect results is called a '

%A Logical error B) Syntax ertor
Procedural error D achine error

a7 Y T T S T RO by T & 9 e 3

C

(A) afm‘-armgﬁ (B) SERETEIAR (C) Wishamwss 3fe (D) ?ﬁ:ﬁ

166 How many bits a:re re resented in one byte ?
T 9152 1 R ?ﬁ_?_u

(A) 8 (B) 16 © 32 (D 64 ”'*

167~ Which shows ‘off state of current in binary code ?

168,

170.

anmﬁiafr T b1 *of > STarer feped) et 1 et & 7

(A ®) 1 . € 2 (D) 3
In ormatlon on a computer is stored as
(A) analog data (B d1g1ta1 data (C) modem data (D) None of these

(A) aqgaggﬁ (B) a:aﬁzr%a@r (C) WA d (D) wﬁfxﬁéﬁ
Grou %f eight bits 10010110 or 01100101 is called
ibble

(B) Byte (C) Bit (D) Robote

mﬁzr-r 10010110 37%&1 0110010 15T TE HETI &

(A) Trea (B) e (C) fore (D) e
ich manual tells you how to use a software program ?
gA; Documentation B Programmmg
C) User D) Designer

TR Y Shal SR H 1 8 i Tl IR 3TT9eh! I8 aTd & 7

(A) erEH (B) wAR¥H  (C) WM (D) athrem
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